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B. Com. (Sem. I) Examination.

January-2016
SE-101-B : Basic Statistics : Paper-I

Time : 3 Hours] [Total Marks : 7@
1 SR AR WAL BN 2L ¢ 14
(1) r=0,-1,+1q aduzq s.

(2) AR ARLs, Asn AR A 12 AR Gelge Ald
ARl

o ol ol

(4) dwfly yalgu-a usiR axed).

(5) A6 As ud W2 Ll YueR 48 B dul ga axdl
10 @ B, dl 28 ¥-Aai opadl-l Avy Ayl.

(6) axll Rvus »lissl YuRAL 2001 Y @u.

:] dlu dl, B'4' A4l

2 (@) 4uifly yalgurg dew wuAdl. 6

(0) 0 =03 A u3q yalqu- 30 @A Ry a8
e Badld yalqund Aaq).

“ad: | 2000 2002 2003 2004 2005 2006 2007
[‘%ac&:| 36 44 40 47 51 53 56
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3 () Ryl suis uedoiuisl da dR-aN ARd 6

;, "a_litﬁq\.

o) AR sl uell wekisinis N4, 8 .

y
200-250 | 3 3 2 1 -

250-300 | - 2 4 2 2

300-350 | 3 5 5 2 -

350-400 | - | 1 | 2|3 |3
400-450 | - | - | 2 | 4 | 1
»uql
3 (2) Raflel aughil Aa uskidiun usid yuondl. 5
(o) DAl wilsdl wefl ueusidis N4, 4

n =10, Ex = 340, Ty = 410, X (x - 34)° = 289,

z(y-41)° =625, 5(x-34)(y - 41) =357

(5) QA0 sufscdl waell suis AsAoivis A4 5

X:|12375648
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4 (2) wud) - 6

(1) A 2 WhRd YYer
(2) WA ¥R
(3) sua yyer

(o) QAN il vl W ux-e:, Fad Gxduon 8
Rl UBreR, g UBER AL, A U4d s
axdl 4 @vl Sl ol AEL ¥He AY).

JH}:, 15-19 20-24 25-29 30-34 35-39 40-44 45-49
(adui)
Wl
. 25 20 I8 15 12 6 4
{wmzni)
dld srasi-l
. 800 2400 2000 1500 500 120 10
oy
a4l
4 () awdl Rvusaissidl 21 20, sl »4 6

GuYIRIcdl A4,

(o) & udAA Rl vl et 2 Wl Yy 8
A4l A wvAl,

Rt ud 4 wéd: B
adl  oyava | oaxdl  yey ey
- 0-5 4500 135 4000 144
5-15 | 10000 40 10500 63
15-65 | 12500 75 13500 81
654l ay | 3000 140 2000 102
GDL-1309 ] 3 [ Contd...

https://www.hnguonline.com

wod duruonduy mmm//:sdny

wod durjuon3uy mmm//:sdny

https://www.hnguonline.com

5  (21) AR A Magus 92N dsiad wxandl & AR 4
ARisiRl Al @il

() R 4= [; i] Ay dl WP 53 3, 5
A(adj A) = (adj A)A = |4|1. '
(5) ouad AR needll A wllsw0 Gl 5
Sx=12y-4, 6y=x-1
AYqy
6  (2) 2udRis v 24y AR . 4
1 3 6 3 -1
(o) °&A=[5 7} w B=[4 4} d (48) 6
4L,
(8) R a=| la(aar) aa 4
s =1, ) (A A ) A4,
ENGLISH VERSION
1  Give answers any four out of six questions : 14
(1) Interpret r=0,-1,+1.
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'rl - .
(2) Explain with example of symmetric matrix, unit
matrix and row matrix.

1t 35 2 4
3 A= B= ] ]
@ If [9 7J, L 8}, find B'4".

(4) Explain types of business forecasting.

(5) The crude birth rate of a city is 48. The

population is 10 lacs; find the no. of children
born during the year.

(6) Write suggestions for the improvement of vital

statistics.
2 (a) Explain importance of forecasting. 6
(b) Taking o =03 and initial forecast as 8

30-forecast the values for different years.

Year: | 2001 2002 2003 2004 2005 2006 2007
Values:l 36 44 40 47 51 53 56

3 (a) Explain spearman's rank 6
correlation method with merits and demerits.
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(b) Find correlation coefficient from the - 8

following data.

¥y
200-250 | 3 3 2 1 -

250-300 | - 2 4 2 2

300-350 | 3 5 5 2 -

350-400 - 1 2 3 3
400 - 450 - - 2 4 1
OR ‘
3 (a) Explain Scatter diagram method. b
(b) Find the correlation coefficient from the 4
following data.

2
n =10, Ix = 340, Iy = 410, £ (x - 34)" = 289,

(y-41)° =625, £(x-34)(y - 41) = 357

(¢ From the following data find rank B 5

correlation coefficient.
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. %
4 (a) Explain : v 6 5 @ Give Ee difference between determinant and 4

(1) Crude and standard death rateé matrix and write condition for multiplication

ft tricies.
(2) Crude birth rate of two matricies
(3) Infant mortality rate

(b) From the following data find GFR, SFR, 8
TFR, CBR if total population is 4 lakhs.

1 2
b)) If 4= [3 _5} prove that, 5

A(adj A) = (adj A)4 =|4|I.
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Age:
(vears) 13-19 ©20-24 25-29 30-34 35-39 40-44 45-49 (© Solve the following equations by inverse 5
No. of females : 1
(in 000) 25 20 18 15 12 6 4 matrix.
v = =-u
z:’f ;” ¢ 800 2400 2000 1500 500 120 10 :é*’ ”‘?f Sx =12y -4, 6y=x-1
z z OR
z g . . . . .
OR z P 8 (a) Explain adjoint of matrix and inverse of 4
4 (a) Give the meaning of vital statistics and 6 ;5:- ;?: matrix.
explain utility and defects of vital statistics. § §
. 5 5. 13 6 3
(b) Find CDR and SDR of city Aand City Band 8 5 = & If 4= [5 7] and B = [4 J 6
compare them. 'g 'g
3 3 |
Find (4B) .
Age’ Ciy A City B
(in years) | Population Deaths | Population Deaths 1 3 |
0-5 4500 135 2000 144 © If A= [4 6}, find (A AT) .
5-15 10000 40 10500 63
< 15-65 12500 75 13500 81 N
Above 65 3000 140 2000 102
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